Foundations of Algebra Unit 5: Linear Funcions Notes

Converting Between Slope Intercept & Standard Form

In the last unit, you reviewed how 1o solve for y. When you groph inear knchors. it 8 much ecser 1o groph in
slope intercept form than standord form.
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Solve the equations for y. Then name the slope and y-intercept.
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Foundations of Algebra Unit 5 Linaar Functaors Notes

Converting from Slope Intercept to Standard Form

When converting from slope intercept form 10 standard form. you wont 10 move yor eQu080r round 10 ot
the variables x and y are on the same side and the comtan! is on the other sde Addtorally e ssordard

form of an equation should not have the 'x* ferm be negative so You might harre 10 MM, Pe ertre ea.Olor
(bothsides) by -1. ok dwide by —|
———————————

Things to Remember about Standard Form

¢ Ax+By=C>A.B.and C arc
integers

e No fractions

e A should be positive

Convert the following equations to slope intercept form:
a.y=-3x+2 b.y=5x+4
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